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2,660,0002 «72*100% 18,620
oYHASIIHI(AHIZI})
2,660,000 72 *120% 22,344
<2023 A2EA AZE(AIHIFIL)
3,000,000 7 21,000
3 A2RH3S 100,971 84,542 16,429
z2 28,000
Al 72,971
04 BRE(RI|HL) 22K 2222 S 100,971 84,542 16,429
Oo=nlpiaega 60,977,620 x7 2 %4 . 5% 19,208
= 9,604
Al 9,604
ORuAABERLD
60,977,620 7% x3.545% 15,132
z2 7,566
Al 7,566
O |IQULEHRHZ
15,132,000 x72 %12.81% 13,569
= 6,784
Al 6,785
onggEee3a
60,977,620 x7*1.75% 7,470
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H & 0l & AHS B Ml A

SIS AIEAIS A

A HSAEAH A

HE: HSAL 2l
el SR WAL 248 - 2 (St &)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
= -FA-8R%-1 - = = ofl &b S2
HSAIEAFS A 7,847,682 8,203,875 A356,193
HESAIE 2t 7,825,173 8,177,246 A352,073
SESHO H=SAE 29 - 22 7,825,173 8,177,246 A352,073
HAS X 2] 1,951,870 1,926,740 25,130
201 LEr2AH| 1,946,870 1,921,740 25,130
01 AtR2t2lbl 169,650 88,160 81,490
Ogtt=gH]| 46,750
HE PAES 20,0003 x55* 122 1,200
oA E AP NEH| 100,000 x 12& 1,200
oHAEE P 1,000,000& x12& 12,000
oMI|&Hl A &
5,000,000 & * 1A 5,000
oS NAHl X 2L 870,000& x 14! 870
SJIAH - AErAH| X 2L
10,000,000 & * 14! 10,000
oFHArZtel A &
30,000& %103+ 105 3,000
oc2lthigd #¢ 30,0002 *43|*4E 480
<J|Et =24 1,000,000& =14 1,000
oEHMNSE 7 1,000,000& x12& 12,000
Oze| 29| 81,400
o ROIHHIAAY E2AZ(SEZHIIE2 54
o) 1,400,000 *12& 16,800
ofjZZ2 )& XS
5,000,000& * 1A 5,000
olMI|tM ALY LS (AEEPEH,
METHE) 1,300,000& x 128 15,600
o ASIAH| RAIEL SHOFH
22,000,000 & = 1A 22,000
&Yl SNBS 8Y
22,000,000& x1A! 22,000
o294 23,300
o &HAH| 60,0003 1 x365 21,900
o B MA QIZILIEMAIR RG] MAIE
70,0003 x5H x43] 1,400
Oextz 18,200
oWL)| A= 70,0002 122 +8CH 6,720
oZHEE)| Xz 300,000& 128 3,600
o NI Z&H| X2 500,000& %103 5,000
oZJIEAED| dXz 110,000 * 12& 1,320
o(CCTV e Xtz 130,000& x 128 1,560
02 S324H| 1,777,220 1,833,580 A\56,360
O3222 ¥ HAl 1,731,160
oMI|SB(ZEAIIZE 13HA)
120,000,000 12& 1,440,000




D SSHISAIEASE A
D HIEAIE 2

A HSAEAH A

Ciel: BEH0 HMSAL 2% - Bl (el mg)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HmE2
d=-FA-d5%-8 T = . 0l ko s2

oAGIETE QRS (ESHIIE 19HA)
20,000,000& x12& 240,000
oSS 1,400,000& x 128 16,800
cHNERY BHZS(SEHIIE 2 60A)
30,000,000 & = 1A 30,000
oI NSXHAl
60,0002 x23| *3CH 360
oxZxte BEEE 500,000 *13|*3CH 1,500
coIERIT DRSS
1,000,000 = 14! 1,000
o= E3lH| 1,500,000 14 1,500
OAIE &I AIH] 20,000
oEHAI A=EE 600,000 %53 3,000
ST QHEAA S4B (FII, I, AY)
7,000,000 14! 7,000
oJ|EF AIE&EHl S|
10,000,000& *14] 10,000
ORXteF - HeHy| 6,060
oEBXE 2l ¥ FHHI
6,000,00021%14] 6,000
cBEIE HIIUA 448
30,000 *23| = 1CH 60
OdZH| 20,000
SRIE (I ESTE R LE]
20,000,000& 14! 20,000
301 EtEAZ 5,000 5,000
14 JIEIB A2 5,000 5,000
OolI2tol At XI=H| 5,000,000 & * 1A 5,000
HEAE 2922 1,033,731 1,124,438 AN90,707
101 Q124d| 20,531 19,938 593
4 JI2tNI2Z2sE S 20,531 19,938 593
OZEEINE LAIAIY o012 11,027
oJlEa 95,2002 x 12«05 9,044
oFFzaY 95,200 x 1 %18 1,714
CNBMUNLE 23
10,757 ,600& *2. 5% 269
OMEXSHEH Hizte| o2
12,0002 x 124 +222 % 122 x3A| 2+ 9,504
201 B2 AH| 447,000 477,000 30,000
01 AtR2t2lb| 120,000 0 120,000
Oze| 29| 120,000
oHMEFAIESX CCTV X122 =49
20,000,000 & * 1A 20,000
oZAZ0HYILE AIEE 22129
100,000,000 * 14! 100,000
02 S324| 327,000 477,000 A 150,000




D S HSAIEAIE A A HSAEAH A
D HIEAIE 2

el SR WAL 248 - 2 (St &)
Al . 2 A .x-liH.C}_?_|(§|)1|).}<||l=’}\}g.@}de Of| AFOH SEE Hnz=2
OAEZEHIR X 32,000
o&Cl2tel #Hl =2l
6,000,000 14! 6,000
o&tC| 22| Hdl |R=4l
5,000,000 * 14! 5,000
oHSE Eh +HZR(HETE, AUEE
H=2) 23,0002 +63| x50& 6,900
S NAINAHSHEAIL QHEBS AL
1,000,000 *14 1,000
SNUNAHSHEAE NSHATZ
500,000& 22| 1,000
ocWSHEAIE HEMZ US|
100,000 *14] 100
oMsREA & SHZA
6,000,000& 23] 12,000
OM=AIE 282 &4F 29
15,000,000& %14 15,000
OMSHR AlE W JIH&H 4sBHEES
80,000, 000& x14! 80,000
OMSEX W AIEEHIS XY
200,000,000 *14] 200,000
203 R4 1,200 1,500 A300
03 AIMFEIA R 1,200 1,500 A300
OAE HsEA =& 1,200,000& * 14! 1,200
401 AlIEHIZL 2 0HY| 565,000 626,000 261,000
01 AIZHI 565,000 626,000 261,000
OZe2sd “2:AE W2+
55,000,000 x14! 55,000
OZe2sd dSHE WHSA
60,000,000& * 14! 60,000
OZEe2sd =1 &M 2 #HS wH
80,000,000& *14] 80,000
Osg2sd & sgHla 2ets uHl
40,000,000 *14] 40,000
OSg2sd dgua 42| £X
20,000,000& *14! 20,000
OZLHSHE (=SE) AFRA 2t WK
20,000,000& *14] 20,000
O=RUMSHE (+=SE) ZoH oIS AL N
l 20,000,000 x14! 20,000
OMEAL a8 SXE:H]
200,000,000 14! 200,000
OHMsAldE E)| 32 AHFAEA
70,000,000& 14 70,000
ZE0HILE Al 23 3| 1,156,000 516,000 640,000
201 L2 1,126,000 466,000 660,000
01 AFR2t2ltl 28,000 28,000 0




A= ZMSAZAE A FA HSAEAE A
X HSAE 2
el SR WAL 248 - 2 (Gt H2)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
Ogt=&4| 28,000
cHAES 7Y 800,000 = 122 9,600
o822 & % WX
2,000,000 14} 2,000
oAl | 22 Y &
1,000,000 123} 12,000
cHIMNRES 7L 200,000+ 122 2,400
=J|Et=EH 2,000,000 14} 2,000
R =23l 1,098,000 438,000 660,000
Oz==23tl 1,008,000
cdIIea 40,000,000 128 480,000
oot Rs 50,000,000 128 600,000
CEANINARS 1,500,000+ 122 18,000
401 AlZHIZ20H] 30,000 50,000 A20,000
01 AlZHI 30,000 50,000 220,000
OOotellLt Ald 3 dH]
30,000,000+ 14| 30,000
LM FHE 2 56,300 56,300 0
201 Ler2aY| 56,300 56,300
01 At 2teltl 8,300 8,300
Ogt=&4| 8,300
cHAES 7Y 300,000+ 122 3,600
o822 & % WX
2,000,000 14} 2,000
oAEEHl R 22 It &
300,000 %53 1,500
cHINRES 7Y 100,000 122 1,200
2 ss=23Hl 48,000 48,000 0
OIIEZH =8 4,000,000« 12 48,000
I (RLUMSHEH, otdiLt & =S2) 29 3,348,000 3,580,000 232,000
30 MES 3,348,000 3,580,000 232,000
01 SAH- SH3LHES 3,348,000 3,580,000 232,000
OBA - SH3dNES 3,348,000
oRUMSHH =3E
1,030,000,000& %141 1,030,000
oO0telLt =% 1,468,000,0002 * 14| 1,468,000
o5F 3% 850,000,000+ 14| 850,000
SC7E 22 279,272 323,768 N44,49%6
101 Q144 151,472 147,668 3,804
M IRINZ2Z2RSE+ 161,472 147,668 3,804
O&t+d 23 & 2 22 7Y 150,672
SZ—= 95,2002 x4 H+230& 87,584
oxgrd 95,2002 4 H »46 17,517




D SSHISAIEASE A
D HIEAIE 2

A HSAEAH A

SEXHC HSAE 2& - 22 EER=E)
SA - BB BI(B) - MRAE - BaS A HIDEZ
oA\ Xt 95,2002 x4 11 4,189
oA2t2+E
17,8502 x4 113 =48 A 2+ 37,700
CcNBAEE 223
147,263,200 2. 5% 3,682
om=| 800
ol (T U oIFE) 7
200,000 ~4& 800
201 ger= 3| 46,800 51,800 /5,000
01 AtR2te|H] 29,600 29,600 0
Oget=EH| 20,800
cHAEES 7Y 800,000& * 122 9,600
cEEE U HAL HE
4,000,000 *14] 4,000
oANEEHl FA A2 I 7
500,000 82 4,000
odld AIRES 7e 100,000 * 122 1,200
o&Cl2el #Hl Tt 2
2,000,000 *14] 2,000
Ogit= 8,800
o2 3l XE
440,000 x202] 8,800
2 S52g4l 17,200 22,200 A5,000
OAlZ &I Xl 17,200
o &2l &bl =cly
10,000,000 » 14 10,000
o&tl|2e| #bl |F4I
600,000+ 12 7,200
206 M=l 61,000 72,000 211,000
01 MHZHI 61,000 72,000 A11,000
O&ti2el M=l 61,000
oz Y 15,000,000& » 14 15,000
oHiEAL 7 25,000,000 * 14 25,000
oBAE EX&C FY 30,0002 x400& 12,000
oHlE 72 1,000,000 *62] 6,000
o&tf|Zd s #¢
3,000,000 14| 3,000
405 KHaHF S| 20,000 52,300 A32,300
01 ML ESF SHI 20,000 52,300 A32,300
Ogsal ti=Jl 7 20,000,000 = 1CH 20,000
HY 2L HHI(HSAIEAIGA) 22,509 26,629 A4120
=1l 22,509 26,629 A4120
=24l 22,509 26,629 A4120
201 Let=d] 4,869 5,869 A1,000
01 AlR2teldl 4,500 5,500 21,000




A ZSHSAEAY A HMSAEAZEA
3 %éi%%HI(HIH/\IMM )
&2l D123 (Gt H2)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
Odit=3=H| 4,500
oME ARESSHI 1,500,0002 %14 1,500
o™y |42l 2,000,000 %14 2,000
=J|EH =EH] 1,000,000 *14] 1,000
02 S5=24g4l 369 369 0
O=32=  HAl 369
oRERS(SII, 28
3,070 128 *10S 369
202 04| 12,480 15,600 A3,120
01 2K 12,480 15,600 A3,120
OJ|28 =8 0bl
80,0002 x13F 122 12,480
203 HR=H] 5,160 5,160
02 FRItAHA =AY 960 960
O-ERIN-EES] 40,0002 %2424 960
MU A2 LRFAI 4,200 4,200 0
ORAMEgEaxd 350,000& 12 4,200




